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47550 KOPO®IAHZ FEQPIIOz NMANTEAHZ AI353326 | Ox1{Oxi| 1 | 12 0 0 0 0 0 0 11,06 | 60 0 0 |800 |0 0 0 0 0 0 221,20 |420 [0 0 Oxi [1 |Ox| 1.441,20 | 1
42957 THPAKOZ AGANAZIOZ EAEYOEPIOZ Al350584 [ Ox1|Oxi| 1 | 11 0 0 0 0 0 0 14,00 | 48 0 0 |725 |0 0 0 0 0 0 280,00 336 [0 0 Oxi |1 |Oxif 1.341,00( 2
47675 KOYNOYIMNAZ FPHIOPIOZ | KONEZTANTINOXZ| AA335263 | Ox1|Oxi| 1 | 12 0 4 0 2 0 0 13,09 0 0 0 [800{0 200(0 |60 [O 0 261,80 [0 0 |0 Ox |1 |Ox|1.321,80| 3
47528 QEPAIOZ XPHITOX ANAPEAZ AN823719 | Ox1|Ox1| 1 5} 0 0 0 1 0 0 19,00 | 60 0 100|275 O 0 0 | 30 0 0 | 380,00 420 | 0 |200| Ox1| 1|Oxif 1.305,00 | 4
47679 MANANHZ NMAYAOZ BAZIAEIOZ AE344001 | Oxi[Oxi| 1 | 12 0 0 0 0 0 0 16,10 | 24 0 0 [800(0 0 0 |0 0 0 322,00 (168 0 0 | Oxi| 1]0x]1.290,00( 5
47626 MMIAIQNAZ KQN/NOZ AHMHTPIOY AA412813 [ Ox1|Oxi] 1 | 12 0 0 0 0 0 0 14,20 | 24 0 0 |800(0 0 0 |0 0 0 284,00 (168 |0 |0 Ox |1 |Ox[1.252,00] 6
47430 KENTEMNOZIAHEZ IQANNHZ ZAMYQN P873698 [ Oxi|Oxi| 1 | 12 0 0 0 0 0 0 12,87 | 26 0 0 [800(0 0 0 |0 0 0 257,40 (182 |0 |0 Ox |1 |Ox[1.239,40| 7
47540 APOZOZ ITYAIANOX |ENAMEINQNAAZ| AA870311 | Ox1|Oxi| 1 | 12 0 0 0 0 0 0 17,02 8 0 0 |800 [0 0 0 0 0 0 340,40 |56 0 0 Ox |1 [Ox| 1.196,40 | 8
47442 I'KIPNHZ FEQPIIOZ NIKOAAOZ AH289107 | Ox1 |Ox1| 1 | 11 0 0 0 0 0 0 17,89 | 16 0 0 |725[ 0 0 0 0 0 0 |357,80| 112] O 0 | Oxi| 1]0x]1.194,80( 9
47567 NAINAZ XAPIZIOZ FPHIOPIOE | AK427233 |Oxi|Oxi| 1 |11 [ 0 [ O 0 1 0 0 [11,08| 24 0 0 [725(0 [0 [0 (30 (O 0 ]221,60[168 | 0 | O |Oxi| 1|Ox|1.144,60[10
47547 ZYPOX AOANAZIOZ ABPAAM X894360 | Ox1|Oxi| 1 9 0 5 0 0 0 0 | 12,09 8 0 0 |575 |0 250 [0 [0 0 0 [241,80 [56 0 |0 |Oxi |1 |Ox| 1.122,80 |11
47570 TZIATKAAHE AHMHTPIOX AMNOZTOAOZ | AM855398 [ Ox1|Oxi| 1 9 0 0 0 0 0 0 16,02 | 28 0 0 |575(0 0 0 |0 0 0 320,40 {196 |0 |0 Oxi |1 |Ox[1.091,40]|12
47495 AAAOYAHZ EAEYOEPIOZ ZMYPOZ Al869448 | Ox1[Oxi| 1 | 12 0 0 0 1 0 0 13,01 0 0 0 |800 [0 0 0 30 |0 0 260,20 |0 0 0 Oxi |1 [Ox] 1.090,20 | 13
47524 KAPATZETZOZX IQANNHZ AHMHTPIOY AK978769 | Oxi|Oxi| 1 7 0 0 0 1 0 0 [11,00] 53 0 0 [425[(0 [0 0 |30 |0 0 ]220,00(371 |0 [0 [Oxi |1 [Ox]1.046,00|14
47534 NMOYPNAPAZ FEQPI'IOZ EYAITEAOZ AH293408 | Ox1 | Ox1| 1 8 0 4 0 0 0 0 13,00 8 0 0 |500(0 20010 |0 0 0 260,00 [56 0 0 | Oxi| 1]0x|1.016,00] 15
47536 KOKOrIAZ BAZIAEIOZ AHMHTPIOY Al328865 | Oxi|Oxi| 1 7 0 0 0 0 0 0 | 14,06 0 0 0 [425 |0 0 0 |0 0 0 [281,20 [0 0 |0 |Oxi |1 |Ox| 706,20 |16
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47621 TZATZOZ NIKOAAOZ AOANAZIOZ AM394571 | Oxi | Oxi 7 0 0 0 0 0 0 | 13,20 0 0 0 [425[0 0 0 |0 0 0 264,00 [0 0 |0 Oxi |1 |Ox| 689,00 |17
47610 PAAOZ MIXAHA OEOAQPOZ AM852487 | Ox1 |Oxi| 1 0 0 0 0 0 0 0 |1830] 40 0 0 0 0 0 0 0 0 0 [366,00{ 280| 0 | O |Oxi| 1]|Ox| 646,00 |18
47643 TAPTAPAZ BAZIAEIOZ MIXAHA AM394571 | Oxi [Oxi| 1 5) 0 0 0 0 0 0 | 15,50 8 0 0 |275] O 0 0 0 0 0 [ 310,00| 56 0 0 [Oxi|1[Ox| 641,00 |19
47491 AGANAZIAAHZ IQANNHZ XPHEITOZ T376727 [Oxi|Oxi| 1 | © 0| o0 0 2 0 0 | 1331 16 0 5210 |0 [0 |0 [60 |0 0 ]266,20(112 |0 [104|Oxi |1 [Ox]| 542,20 |20
47593 DOYKAZ ZQTHPIOZ KQNITANTINOZ| AZ499077 | Oxi[Oxi| 1 0 0 4 0 0 0 0 | 17,02 0 0 0 |0 0 200 [0 [O 0 0 340,40 |0 0 |0 Ox1 |1 |Oxi| 540,40 |21
47680 MAMAIQANNOY AHMHTPIOX OPOEYZ AM399605 | Oxi [Oxi| 1 0 0 0 0 0 0 0 | 18,04 9 0 0 0 0 0 0 0 0 0 [360,80f 63 | 0 | O |Oxi|1]|Ox| 423,80 |22
47553 TAKOZ ZHZHZ POTIOZ X389127 | Ox1|Oxi| 1 0 0 0 0 0 0 0 | 1250| 22 0 0 |0 0 0 0 |0 0 0 250,00 |154 [0 [0 Ox1 |1 |Oxi| 404,00 |23
47530 XATZHAAMOZ BAZIAEIOX AHMHTPIOX Al350850 | Ox1|Oxi| 1 0 0 0 0 0 0 0 | 19,05 0 0 0 0 0 0 0 0 0 0 1381,00{ O 0| O [Oxi| 1|Ox| 381,00 |24
47590 KOYZIAZ FEQPIIOx POTIOZ AM854509 | Oxi [Oxi| 1 0 0 0 0 2 0 0 | 15,03 0 0 0 [0 0 0 0 |60 |0 0 300,60 [0 0 |0 Oxi |1 |Ox| 360,60 |25
47502 |KOYTZOOEQAOPAX| EYOYMIOZ AHMHTPIOX AM854437 | Ox1 |Oxi| 1 0 0 0 0 1 0 0 | 15,00 0 0 0 [0 0 0 0 |30 |0 0 300,00 [0 0 |0 Ox1 |1 |Ox| 330,00 |26
47501 POYZIHZ EMMANOYHA ZHZHZ AZ2792902 | Ox1 | Ox1| 1 1 0 0 0 0 0 0 | 14,04 0 0 0 |0 0 0 0 |0 0 0 280,80 0 0| O |Oxi|1|Ox| 280,80 |27
47621 TZEANOZ IQANNHZ AGANAZIOX Al326294 [ Ox1|Oxi| 1 0 0 0 0 0 0 0 | 13,04 0 0 0 [0 0 0 0 |0 0 0 260,80 [0 0 |0 Oxi |1 |Ox| 260,80 |28
47537 MNAZIAKOZ MAPKOZ IQANNHZ Al326297 | Oxi{Oxi| T 8 0 0 0 0 0 0 | 12,25] 52 0 0 |500{ O 0 0 0 0 0 |1245,00] 364 0 | O | Oxi| I'|Ox|1.109,00| 29
47441 FKOrKOox BAZIAEIOX IQANNHZ AH28865 | Ox1|Oxi| I | 11 0 0 0 0 0 0 | 12,00 0 0 0 [725 |0 0 0 |0 0 0 240,00 |0 0 |0 Oxi | [Ox)] 965,00 |30
47428 TZHKAZ NIKOAAOZ FEQPI'10Z AK978998 | Nai | Ox1| 1 0 0 0 0 2 0 0 | 17,00 60 0 0 0 0 0 0] 60 0 0 [340,00( 420| 0 | O | Nai| 1)|Oxf 820,00 |31
42787 MAPKOIMNOYAOZ ZHIHZ EYAITEAOZ AN826098 | Nar [Oxif 1 | O 0 0 0 0 0 0 [17,00] 60 0 0 oOfofo]JOofoO 0 0 [340,00( 420| 0 | O | Nai| 1]|Oxf 760,00 |32
47479 TKANTIAZ FEQPI'IOZ IQANNHZ AB109137 | Nai | Ox1| 1 0 0 0 0 0 0 0 | 16,40 | 60 0 0 |0 0 0 0 |0 0 0 328,00 {420 |0 |0 Nai [1 [Ox] 748,00 |33
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47603 TZEMOYPAZ NIKOAAOZ KQNZITANTINOZ| ®275217 | Nai | Oxi 0 0 0 0 0 0 0 16,00 | 60 0 0 0 0 0 0 0 0 0 [320,00] 420| O 0 | Nai| 1]|Ox| 740,00 |34
47473 FTANNAAHZ XAPAAAMINOZ ANTQNIOZ AH291047 | Nai | Ox1| 1 0 0 0 0 0 0 0 15,55| 60 0 0 |0 0 0 0 0 0 0 311,00 |420 |[O 0 Nai [1 |Ox| 731,00 |35
47618 AIFKAX HAIAZ IQANNHZ X393711 Nai |Oxi| 1 0 0 0 0 0 0 0 18,66 | 48 0 0 [0 0 0 0 0 0 0 373,20 |336 |0 0 Nai |1 |Ox| 709,20 |36
47433 MANTZIOZ NIKOAAOZ NMANATIQTHE KA981100 | Nai | Ox1| 1 0 0 0 0 2 0 0 15,00 | 48 0 0 0 0 0 0 | 60 0 0 |300,00| 336 | O 0 | Nai| 1]|Ox| 696,00 |37
42951 KOYZIAKHZ EMMANOYHA AHMHTPIOX AE818189 | Nai [Oxi| 1 0 0 0 0 0 0 0 15,20 8 0 95 | 0 0 0 0 0 0 0 | 304,00 | 56 0 [190]| Nai | 1 |Oxif 550,00 |38
47513 KQNZITANTINIAHZ FPHIOPIOX XAPAAAMMNOZX | AZ787387 | Nai|Oxi| 1 0 0 0 0 0 0 0 14,90 | 24 0 0 0 0 0 0 0 0 0 1298,00| 168 | 0 0 [Nai| 1[Ox] 466,00 |39
47616 MAATEZOX AHMHTPIOXZ AAZAPOZ AH793885 | Nai | Ox1| 1 0 0 0 0 0 0 0 14,66 | 16 0 0 0 0 0 0 0 0 0 [293,20( 112 ] O 0 | Nai| 1]|Ox| 405,20 |40
KOZANH, 14/12/2020
O NMPOEAPOZX THX ENITPOMHZ
TA MEAH THZ ENITPONHZ
1. TKANATZA IQANNA
XATZHIIANNAKHZ APTYPIOZ 2. TOYAKA ®QTEINH
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